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ΑΣΚΗΣΗ 4: Γράψτε και δοκιμάστε τις παρακάτω διαδικασίες: 

ΤΕΤΡΑΓΩΝΟ                 
(πάχος γραμμής 8) 

ΣΤΑΥΡΟΣ                 
(πάχος γραμμής 9) 

ΤΡΙΓΩΝΟ                     
(πάχος γραμμής 10) 

για τετράγωνο 
σβγ 
στκ 
θεσεπαχοςστυλο 8 
επανάλαβε 4 
[μπ 200 δε 90] 
στα 
τέλος 

για ΣΤΑΥΡΟ 
σβγ 
στκ 
θεσεπαχοςστυλο 9 
δε 90 
μπ 200 
δε 180 
μπ 100 
δε 90 
μπ 100 
δε 180 
μπ 200 
στα 
τέλος 

για τρίγωνο 
στκ 
θεσεπαχοςστυλο 10 
επανάλαβε 3 
[μπ 200 δε 120] 
στα 
τέλος 

 
 
 
 
 
 
 
 
 
 

 
 

 

 

 

ΑΣΚΗΣΗ 5: Δοκιμάστε να δημιουργήσετε το παρακάτω σχήμα (πλευρά 100, 
πάχος γραμμής 3): 

  

 

 

 

 

 

για σταυρογεματο 
σβγ 
στκ 
θεσεπαχοςστυλο 3 
επαναλαβε 4 [μπ 100 
  δε 90 μπ 100 δε 90  
  μπ 100 αρ 90] 
στα 
τέλος 
 


